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1 RARKEOLC 8| 17 25 11 18 6 35 60
2 FimKFOLER 5 6 21 16 12 4 32 53
3 ZHBOoLC 2 12 6 20 4 27 31 51
4 BXoc 9 12 4 25 14 2 16 41
5 | FERKFOLEFS/EB 0 9 19 12 2 2 6 22 41
6 R AKOLK 8 4 8 20 9 6 15 35
7 BFKFOLC 5 9 14 7 9 16 30
8 FEKOLC 6 3 9 18 9 9 27
9 EitKOLC 0 10 14 3 17 27
10 BIKOLT 9 4 13 12 12 25
11 IR KZFOLD 5 6 11 9 9 20
12 KERKZEEOLC 6 2 8 6 6 14
13 FIRKZFOLC 1 6 7 1 4 5 12
14 HEETIKOLC 0 0 4 6 10 10
15 dt /B KEF0LC 4 4 5 5 9
16 KOLC 1 1 4 2 6 7
17 MHKE 2 2 2 2 4
18 E4[E K= O0LC 2 2 2 2 4
19 | BEERZFRFOLC 2 2 2 2 4
20 | EXVEIEKRFOLEFR 1 1 1 1 2
21 [EEXRKZFOLC 1 1 0 0 1
22 IO XZ0LC 1 1 0 0 1
23 BEKXFE 0 0 1 1 1
24 EBKE 0 0 1 1 1
25 faff K= 0 0 1 1 1




